
 Quiz 12    

SBU 2020                       Lesson 12 (quiz) 

 

 
1) Partner opens 1NT. RHO passes. 

 What do you respond with these hands? 

 

a)  98 b)  Q73 c)  J73 

  KQ6   A98   A98 

  AJ2   KJ4   KJ4 

  QJ842   J1043   J1043 

 

 

_______________ _______________ _______________ 

 

 

 

 

 

d)  4 e)  65 f)  53 

  AQJ742   AK2   109872 

  A42   KQJ1062   K62 

  J52   J6   843 

 

 

_______________ _______________ _______________ 

 

 

 

 

 

2) You opened 1NT with this hand: 

 

   J2 

   K83 

   AQ4 

   K10985 

 

 Partner makes the following responses. 

 What do partner’s bids mean, and what is your rebid? 

 

 

a) 3NT   b) 2NT c) 4 

 

 

_____________________ _____________________ ____________________ 

 

 

 

_______________ _______________ _______________ 

 


